TR I—F 22690 OB 0 8 NHETE
T RETH % ERAT
S o=
E #Hl ® F BB & £ B
EEEE | BEE0&AH BEER
39. 000
I, EEEORREH | AREREOBEEE | | BEEERE~D
: (BERERD) (BERER<) BER DS
37. 000 2. 000 0. 000
BE | RBx an RERERE
g2 | B AREREOKE BERERC) | ~OEREX +
1 R BT 2. 000 - REE~OBEER
(BERERS
37. 000
Il
REE~OBERER

(BE#ZED)

37.000




MR —F 22690 OBF0 8 9 HETE
HREHE, ERAT
=9
E #Hl £ *F B ZE & £
BHES | BEZ0AH BEEK
1,549 010
RS 2 BEEOARGE | EREREOARLE | [ BERBERE~OD
2 DS (BERESD) (BERER <) BEMO S
1, 470. 000 79. 010 0. 000
BE | BE BEN BERBRE
B2 | # EREBEORE WERERC) | ~OBEN +
| R BES 17687 = BEE~OBRER
7 T Hoo 5 312 = (BERERS
3 ®BE V&L 3. 000 - 1470. 000
4 WH KXiE 1. 000 - "
5 wa H»Ip=E 0. 000 -
5 AR F-hih 0000 - BEE~OBERR
7 FL -& 77000 - (EERESD)
8 L BH— 3. 000 - 1470. 000
9 R BA 4000 -
10 ffH Y hr 0. 000 -
11 FH I=HL 7. 000 -
12 ¥BiE EE 2. 000 -
13 FrH Ff=5 0. 000 -
14 €F HBUVE 6. 000 -
15 HEy wyY 7.0717 -
16 BEO H#DbB 4. 000 -
17 Nk =B 17. 000 -
18 Al BEAER 1. 000 -
19 djil FAWS 2 000 -
20 b =kL 6. 000 -
2i B S = 77000 -
22 @il »TE 1. 000 -
23 J\BH &Y LIF 0. 000 -
24 & BHE 5. 000 -
25 K/t LBHHE 7. 000 -
26 0O HH 2. 000 -




mRAIAI—F 22690 OBF O 8 Y RETE
TRETHE ERAT
=9
E #Hl £ *F B ZE & £
BHES | BEZ0AH BERE
859. 159
‘ BEEORRAGE | BREREORERE | | REPBRRE~0
g |hUDEEME (RERESD) (BERER<) WEMOAH
/76. 000 83. 159 1. 000
BE | BE RN BEBRRE
B2 | # EREBEORE WERERC) | ~OBEN +
T [ 1 (X8 A& - 1000 | BEE~OBRER
7 XE AMBE 77000 = (BERER)
3 20 B 1. 000 - 775. 000
4 BaF =ML 4. 000 - "
5 *L TFIAY 2. 000 -
6 E&/JIl 501 C 2 159 - BREADEELH
7 £2 hhA 4000 = (BERERD)
8 KEBELT 29. 000 - /76. 000
9 T3+ B 40. 000 -




MR —F 22690 OBF0 8 9 HETE
HREHE, ERAT
E #Hl £ *F B ZE & £
BHES | BEZ0AH BEEK
1,713 636
- BEEOBRGE | EREREOBALE | [ BERBERE~OD
4 (RERESD) (BERER <) BEMO S
1, 038. 000 675 636 0. 000
BE | BE BEN BEBRRE
B2 | # EREBEORE WERERC) | ~OBEN +
: oo e /5. 000 = BEE~OBRER
7 WA LAL 544 000 = (BERERS
3 EFH Wi 7. 000 - 1038. 000
4 R L\l 0. 000 - I
5 aHLN IEFH 0. 000 -
6 {IFf- TDH 7 636 - BRE~ANESELRY
7 BB 55 0,000 - (EERESD)
8 Aae & 0. 000 - 1038. 000
9 B i 0. 000 -
10 ot =T 0000 -
11 T B 0. 000 -
12 hig #— 0. 000 -
13 =B [EXD 0. 000 -
14 FIE FEA 0. 000 -
15 FRHE *— 0. 000 -
16 5 FE 2. 000 -
17 KE HE 0. 000 -




MR —F 22690 OBF0 8 9 HETE
HREHE, ERAT
E #Hl £ *F B ZE & £
BHES | BEZ0AH BEEK
103 105
250 BEEOARGE | ZREREOBALE | [ BERBERE~OD
5 |° (BERESD) (BERER <) BEMO S
100. 105 3. 000 /. 105
BE | BE BEN BERBRE
B2 | # EREBEORE WERERC) | ~OBEN +
T 1 B =% - 2000 BEE~OBRER
7 T 7 Ui #e = 27705 (BB ERC)
3 3 |55 HE - 0. 000 93 000
4 4 |5 X - 1. 000 "
5 b | g - 0. 000
6 | 6 5@ E% - 0000 [BEE~OBERH
T 17 B = - 77000 (EERESD)
8 8 [FE MWMF - 1. 000 100. 105
9 IEE 7 2. 000 -
10 itk ¥ 0. 000 -
11 Mt HEEF 7. 000 -




MR —F 22690 OBF0 8 9 HETE
HREHE, ERAT
E #Hl £ *F B ZE & £
BHES | BEZ0AH BEEK
5, 269. 192
I BEEOBRGE | ZREREOARLE | [ BERBERE~OD
6 & (BERESD) (BERER <) BEMO S
4, 452 248 816. 944 0. 000
BE | BE AEN BERBERE
B2 | # EREBEORE WERERC) | ~OBEN +
: > 87000 = BEE~OBRER
7 HE ZE 77 000 = (BERERS
3 Al Tkl 17 944 - 4452 248
4 g HBUVAH 57. 000 - I
5 BARK Fo& 7100. 000 -
5 = RRT 7000 - BEE~OBERR
7 PHD BRE 5000 - (EERESD)
8 A+ IEdh 1. 000 - 4452 248
9 YLt EfT 11. 000 -
10 g H5HMIT 129. 000 -
11 Sbhd [T 6. 000 -
12 LIF fE— 120. 000 -
13 BR =& 0. 000 -
14 H B— 4. 000 -
15 2LdE BE 169. 000 -
16 H LAKA 55. 000 -
17 = &+ 9. 000 -
18 i (FWhIZA 14. 000 -
19 HMEH ETEES5C 15. 000 -
20 HK A= 5. 000 -




MR —F 22690 OBF0 8 9 HETE
HREHE, ERAT
=9
E #Hl £ *F B ZE & £
BHES | BEZ0AH BEEK
903. 757
ERRLH BEEOBRGE | EREREOBALE | [ BERBERE~OD
7 (BERESD) (BERER <) BEMO S
658. 757 245. 000 0. 000
BE | BE BEN BERERE
B2 | # EREBEORE WERERC) | ~OBEN +
| Ao DY 98, 000 = BEE~OBRER
7 3% <5 W 29000 = (BERERS
3 LH bHhF 17. 000 - 658. 751
4 & el 79. 000 - "
5 WF &5 2. 000 -
6 E¥y ERM 4. 000 - BREADEELH
7 S ELBS 0,000 - (EERESD)
8 =& HEY 1. 000 - 658. 751
9 =5 Bl 5. 000 -




mEEHaI—F

22690

T BT #{ 4

[cab: bl

Lk

Bl £ & B

OO0 8 BETE

R W\ R
7

BHES | BEZ0AH BER
7/74. 500
S BESORRAGE | BRERZEORERE | | REEBRRE~0
8 5 (RERESD) (BERER <) BEROSEH
656. 000 7118 500 0. 000
BE | BE , BRK BEBRRE
B2 | # EREBEORE WERERC) | ~OBEN +
| BE = 78, 000 = BEE~OBRER
7 =5 B 70.000 = (BERER)
3 FE HE 3. 000 - 656. 000
4 RE HE 45000 = ”
5 HE EF5AL 42. 500 -
BEE~OBEER
(BEREAD)

656. 000




MR —F 22690 OBF0 8 9 HETE
HREHE, ERAT
=9
E #Hl £ *F B ZE & £
BHES | BEZ0AH BEEK
32. 000
o BEEOBRGE | EREREOBALE | [ BERBERE~OD
9 (BERESD) (BERER <) BEMO S
25. 000 /. 000 0. 000
BE | BE BEN BERBRE
B2 | # EREBEORE WERERC) | ~OBEN +
| ] 5 000 = BEE~OBRER
7 o HTOD 27000 = (BERERS
25. 000
Il
BEE~OBERR

(FEREET)

25. 000




MR —F 22690 OBF0 8 9 HETE
HREHE, ERAT
E #Hl £ *F B ZE & £
BHES | BEZ0AH BEEK
1,283 247
S BEEOBRGE | ZREREOBALE | [ BERBERE~OD
10 (RERESD) (BERER <) BEMO S
1, 183. 000 100. 247 0. 000
BE | BE BEN BEBRRE
B2 | # EREBEORE WERERC) | ~OBEN +
| BN &% 24000 = BEE~OBRER
7 APl BHEL 77000 = (BERERS
3 LWbhisd K 2. 000 - 1783. 000
4 =112 Bt 59. 000 - "
5 T F5AL 1. 000 -
6 FRE Bl 0. 000 - BREADEELH
7 5H bR 0000 - (EERESD)
8 FEBE FE 2. 000 - 17183. 000
9 FE B 0. 000 -
10 FWl fMF 0. 000 -
11 kB BF 0. 000 -
12 L EF 2. 000 -
13 kKR ELF 0. 000 -
14 B F=C 1. 055 -
15 = B 0. 000 -
16 fEE % 0. 000 -
17 FAH SXF 0. 000 -
18 ERX DYH=E 0. 000 -
19 ZFEH FE 7. 000 -
20 Wy EB 0. 000 -
21 Il BT 0. 000 -
22 A BpHC 1. 000 -
23 A oYy 5192 -
24 £ _F 0. 000 -
25 B8 BRT 77000 -




MR —F 22690 OBF0 8 9 HETE
HREHE, ERAT
=9
E #Hl £ *F B ZE & £
BHES | BEZ0AH BEEK
17000
s ¢ (=4 Y BEEOBRGE | ZREREOBALE | [ BERBERE~OD
T NS (BERESD) (BERER <) BEMO S
14. 000 3. 000 0. 000
BE | BE BEN BERBRE
B2 | # EREBEORE WERERC) | ~OBEN +
| FH =X 2,000 = BEE~OBRER
7 =& A 77000 = (BERERS
74. 000
Il
BEE~OBERR

(FEREET)

14..000




MR —F 22690 OBF0 8 9 HETE
HRETH & ERAT
E #Hl £ *F B ZE & £
BHES | BEZ0AH BEEK
11, 899. 220
A BEEOBRGE | EREREOBALE | [ BERBERE~OD
12 (RERESD) (BERER <) BEMO S
9 595. 000 2 304. 220 5. 000
BE | BE RN BERBRE
B2 | # EREBEORE WERERC) | ~OBEN +
T 1 |[BE —m - 5000 | [BREBE~OBRBR
7 1 7 e A - 0000 (BB ERC)
3 Bl 103. 000 - 9590. 000
4 F & 173 000 - I
5 By &ELwsE 248 487 -
6 b FSL 23 344 - BRE~ANESELRY
7 HE 3 5 000 = (BERERD)
8 HE Lz 31. 000 - 9595. 000
9 SH KEBEF 174. 000 -
10 WhZ St 6. 000 -
11 o9k 2HY 8. 000 -
12 ZY TPILI«q4X 15. 000 -
13 BE ERF 18. 000 -
14 INI hDH 31. 000 -
15 bt &z 15. 000 -
16 bbb Rz 49 167 -
17 FIU &o% 85. 000 -
18 My FIp=E 4]. 488 -
19 AF FAWLD 17 894 -
20 XH £LUb 24000 -
21 i SHF 152. 000 -
22 BR F4c 31. 000 -
23 ZF0DE BR 38. 000 -
24 BR HE 3. 000 -
25 EEDS5 YUk 67. 000 -
26 E&/JIl 0TlES 485. 840 -
27 BA LAY 2871. 000 -
28 AHALT R EB=E 36. 000 -
29 KL B 71712 000 -
30 HcS5W LA 3. 000 -
31 e zZYF 39. 000 -
32 e % 49. 000 -
33 =H LAREAS 5. 000 -




MR —F 22690 OBF0 8 9 HETE
HREHE, ERAT
E #Hl £ *F B ZE & £
BHES | BEZ0AH BEEK
1, 094. 000
g BEEOBRGE | ZREREOBALE | [ BERBERE~OD
12 = (BERESD) (BERER <) BEMO S
977 000 117 000 0. 000
BE | BE BEN BERBRE
B2 | # EREBEORE WERERC) | ~OBEN +
| BB #7E 100, 000 = BEE~OBRER
7 xiE BS5c 2000 = (BERERS
3 EhEE EBF 3000 - 977 000
4 B A4FA— 0. 000 - I
5 #EH LpAlLrd 2. 000 -
6 A 28 77000 - BEE~OBERR
7 UE A 77000 - (EERESD)
8 wa HiF 8. 000 - 977. 000




MR —F 22690 OBF0 8 9 HETE
HREHE, ERAT
=9
E #Hl £ *F B ZE & £
BHES | BEZ0AH BEEK
504. 170
N H K2 BEEOBRGE | ZREREOBALE | [ BERBERE~OD
14 (BERESD) (BERER <) BEMO S
399. 000 105. 170 0. 000
BE | BE BEN BERERE
B2 | # EREBEORE WERERC) | ~OBEN +
: ES =R 7 000 = BEE~OBRER
7 Rl HoUC 4000 = (BERERS
3 {IFf- % 4. 363 - 399. 000
4 WA  XEB 21. 807 - "
5 wmy &L 1. 000 -
5 F—— 43000 - BEE~OBERR
7 ZilE LA® 77000 - (EERESD)
8 B ¥ 1. 000 - 399. 000
9 +E #H= 0. 000 -




MR —F 22690 OBF0 8 9 HETE
HRETRA ERAT
=9
E #Hl £ *F B ZE & £
BHEE | BEZ0AH Y
14. 000
" BEEOBREN | RRERZEORRRE | | BEEBERE~D
15 |MERTECE - HA (RERESD) (BERER<) BRSO S
13 000 1. 000 0. 000
BE [ BE BN BEEBRE
B2 | # EREBEORE WERERC) | ~OBEN +
1 BB BR 7000 - BEE~OBRREH
(BERERO
13. 000
Il
BEE~ORERH

(FEREET)

13.000




